N+ =20, A/IV+D| [ Z 0l (Reason and cause)
Class Objective:
I'll be able to learn the grammar: N+ 2 0ll, A/V+I| 120,
Introduction:
This expression is used to express the reason for or cause of the situation described in the second
clause.
It can also be used used when expressing a clear reason and is a more literary expression than
-0 M and -(2)LIJt.

This expression corresponds to ‘because (of)’ in English.

Sentence pattern for using this grammar will be:
e For nouns, ~[li 0]l is added to the stem.

e For adjectives and verb, ~-J| (120l is added to the stem.
Concept A: Because of ([l 2)

- By placing ‘(i &’ after a noun, you can create the meaning of “because of (that noun).”
- Noun functions as the reason and the object of the sentence, not the subject

2! {2 0il = Because of work

2 =0l Li= UE 2 et 2 210t - Because of work, | probably won't be able to meet you
0= 20 ot 0/ R - I'm really hot because of my school uniform

HY ME20 Hel &R 052 ZWEH K - | forgot your real name because of your nickname

- not the same as adding ~Ot/0{ M to OICt.

20|2tAl... = Because it is work
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= Az L0letM U Z0t - | can speak korean while working so i like the work

Concept B: Because/Therefore (~2| [1&0il) and NOID| THZ 0l

- The clause before [ = 0ll must be in the form of a noun, and this is done by adding ~J|

M= HDZD| 20 22 20 4K =1 want to eat because | am hungry
M= HOOHA B2 910 4R = | want to eat because | am hungry

AN-J| [H 201l
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